o S| AR P 10 9] o] 44& vehd Zoltt. o] A=
o] #4h2?
(8)
5
4
3
2
1

0750 60 70 80 90 100()

O 72 @ 74 @76 @ 78 ® 80

B

- 55x1+65x2+75x54+85x2 730

(Bt) 5 o = (A
1

A= G (55-173)2x 1+ (65— 73)%x 2}

1

+E{(75—73)2><5+(85—73)2><2}

760

=70 -0




7 9l Zo|7t4 91 BAZHE ABCD ©f 2

-3 P
Wo] 1Y} 2ol | B, F H GELE | oy
o, OEFHG ©] fi7H4 BH 9] 2ol T3} B ;
w7 " "
: i’
D V5 ®2v3 04 ‘ ;
B -G~-3---C

@®)2+5 ® 35

U] 7t o] A2 5 0]n 2 pEFHG = 4

/\]-71—

=

Foldt.




Z& vheel

e 193 2e AAzE v
q
wakslgr) go 2

@ V4080cm
@ V4083cm

&8

S|

pud

| ALz 4 9l

Zol A of 4
A% A2 S P2

_--22cm~ < _

~

\
10cm

//
B

@ +V4081cm ® +4082cm
@\/40840111

22cm

6cm|

16cml
\

\

16cm|
\

\

16cm|
\

\

6cm|

(ol AUzt e Ag]) = V222 + 602 = V4084(cm)

ool Ul & U A
2wsto] e e AH 4 B o




ohE T3t ol W el HAE2] Lo} 10em o] 3 BAIY] Lo}
40cm Q) Yo] Itk YR AR T A o)A Flo] AWML
whe} @ vl Eof thAl A A 2 Eotet M@ Aelska Vhem 2
Tl a+b O A, b HAY 4A)

® 40 @)42 ® 44 @ 46 ® 50

A2 AA’ = 40 V2em ©Jt.
a=40, b=201BE a+b =42




